This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 4 - Livingston South

7,566

4

1,514

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Eddie ANDERSON	Independent	384
Lawrence FITZPATRICK	Scottish Labour Party	2,028
Cameron GLASGOW	Scottish Green Party	328
Margaret HAMILTON	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	80
Peter HEGGIE	Scottish Conservative and Unionist	884
Caron LINDSAY	Scottish Liberal Democrats	167
Maria MACAULAY	Scottish National Party (SNP)	2,252
Moira MCKEE SHEMILT	Scottish National Party (SNP)	698
Eddie MILLAR	Independent	323
Craig SMITH	Scottish Labour Party	422
	Total	7,566

Candidate Lawrence FITZPATRICK Elected with 2,028 votes, being in excess of the quota of 1,514 Candidate Maria MACAULAY Elected with 2,252 votes, being in excess of the quota of 1,514

This report contains the transfers results.

Stage 2 - Surplus of Maria MACAULAY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Eddie ANDERSON	27	0.32770	8.84790
Transfer to Cameron GLASGOW	99	0.32770	32.44230
Transfer to Margaret HAMILTON	7	0.32770	2.29390
Transfer to Peter HEGGIE	12	0.32770	3.93240
Transfer to Caron LINDSAY	12	0.32770	3.93240
Transfer to Moira MCKEE SHEMILT	1,972	0.32770	646.22440
Transfer to Eddie MILLAR	31	0.32770	10.15870
Transfer to Craig SMITH	24	0.32770	7.86480
No further preference	68	0.32770	22.28360
Not transferred due to rounding			0.01960
	Total		738.00000

This report contains the transfers results.

Stage 3 - Surplus of Lawrence FITZPATRICK

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Eddie ANDERSON	115	0.25345	29.14675
Transfer to Cameron GLASGOW	82	0.25345	20.78290
Transfer to Margaret HAMILTON	17	0.25345	4.30865
Transfer to Peter HEGGIE	228	0.25345	57.78660
Transfer to Caron LINDSAY	73	0.25345	18.50185
Transfer to Moira MCKEE SHEMILT	118	0.25345	29.90710
Transfer to Eddie MILLAR	53	0.25345	13.43285
Transfer to Craig SMITH	1,206	0.25345	305.66070
No further preference	136	0.25345	34.46920
Not transferred due to rounding			0.00340
	Total		514.00000

This report contains the transfers results.

Stage 4 - Exclusion of Margaret HAMILTON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Eddie ANDERSON	11	1.00000	11.00000
Transfer to Cameron GLASGOW	4	1.00000	4.00000
Transfer to Peter HEGGIE	7	1.00000	7.00000
Transfer to Caron LINDSAY	5	1.00000	5.00000
Transfer to Moira MCKEE SHEMILT	11	1.00000	11.00000
Transfer to Eddie MILLAR	15	1.00000	15.00000
Transfer to Craig SMITH	9	1.00000	9.00000
Transfer to Cameron GLASGOW	1	0.32770	0.32770
Transfer to Peter HEGGIE	1	0.32770	0.32770
Transfer to Moira MCKEE SHEMILT	1	0.32770	0.32770
Transfer to Eddie ANDERSON	2	0.25345	0.50690
Transfer to Cameron GLASGOW	2	0.25345	0.50690
Transfer to Peter HEGGIE	2	0.25345	0.50690
Transfer to Caron LINDSAY	3	0.25345	0.76035
Transfer to Craig SMITH	3	0.25345	0.76035
No further preference	18	1.00000	18.00000
No further preference	4	0.32770	1.31080
No further preference	5	0.25345	1.26725
Not transferred due to rounding			0.00000
	Total		86.60255

This report contains the transfers results.

Stage 5 - Exclusion of Caron LINDSAY

195.19460

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Eddie ANDERSON	18	1.00000	18.00000
Transfer to Cameron GLASGOW	36	1.00000	36.00000
Transfer to Peter HEGGIE	27	1.00000	27.00000
Transfer to Moira MCKEE SHEMILT	15	1.00000	15.00000
Transfer to Eddie MILLAR	10	1.00000	10.00000
Transfer to Craig SMITH	33	1.00000	33.00000
Transfer to Cameron GLASGOW	2	0.32770	0.65540
Transfer to Peter HEGGIE	1	0.32770	0.32770
Transfer to Moira MCKEE SHEMILT	4	0.32770	1.31080
Transfer to Eddie ANDERSON	4	0.25345	1.01380
Transfer to Cameron GLASGOW	6	0.25345	1.52070
Transfer to Peter HEGGIE	11	0.25345	2.78795
Transfer to Moira MCKEE SHEMILT	3	0.25345	0.76035
Transfer to Eddie MILLAR	4	0.25345	1.01380
Transfer to Craig SMITH	30	0.25345	7.60350
No further preference	33	1.00000	33.00000
No further preference	5	0.32770	1.63850
No further preference	18	0.25345	4.56210
Not transferred due to rounding			0.00000
	Tatal		405 40400

Total 195.19460

This report contains the transfers results.

Stage 6 - Exclusion of Eddie MILLAR

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Eddie ANDERSON	143	1.00000	143.00000
Transfer to Cameron GLASGOW	18	1.00000	18.00000
Transfer to Peter HEGGIE	29	1.00000	29.00000
Transfer to Moira MCKEE SHEMILT	52	1.00000	52.00000
Transfer to Craig SMITH	47	1.00000	47.00000
Transfer to Eddie ANDERSON	6	0.32770	1.96620
Transfer to Cameron GLASGOW	2	0.32770	0.65540
Transfer to Moira MCKEE SHEMILT	10	0.32770	3.27700
Transfer to Craig SMITH	7	0.32770	2.29390
Transfer to Eddie ANDERSON	13	0.25345	3.29485
Transfer to Peter HEGGIE	2	0.25345	0.50690
Transfer to Moira MCKEE SHEMILT	3	0.25345	0.76035
Transfer to Craig SMITH	22	0.25345	5.57590
No further preference	59	1.00000	59.00000
No further preference	6	0.32770	1.96620
No further preference	17	0.25345	4.30865
Not transferred due to rounding			0.00000
	Total		372.60535

This report contains the transfers results.

Stage 7 - Exclusion of Cameron GLASGOW

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Eddie ANDERSON	51	1.00000	51.00000
Transfer to Peter HEGGIE	16	1.00000	16.00000
Transfer to Moira MCKEE SHEMILT	151	1.00000	151.00000
Transfer to Craig SMITH	64	1.00000	64.00000
Transfer to Eddie ANDERSON	12	0.32770	3.93240
Transfer to Peter HEGGIE	2	0.32770	0.65540
Transfer to Moira MCKEE SHEMILT	56	0.32770	18.35120
Transfer to Craig SMITH	2	0.32770	0.65540
Transfer to Eddie ANDERSON	4	0.25345	1.01380
Transfer to Peter HEGGIE	7	0.25345	1.77415
Transfer to Moira MCKEE SHEMILT	14	0.25345	3.54830
Transfer to Craig SMITH	23	0.25345	5.82935
No further preference	104	1.00000	104.00000
No further preference	32	0.32770	10.48640
No further preference	42	0.25345	10.64490
Not transferred due to rounding			0.00000
	Total		442.89130

This report contains the transfers results.

Stage 8 - Surplus of Moira MCKEE SHEMILT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Eddie ANDERSON	197	0.07200	14.18400
Transfer to Peter HEGGIE	21	0.07200	1.51200
Transfer to Craig SMITH	154	0.07200	11.08800
Transfer to Eddie ANDERSON	375	0.02359	8.84625
Transfer to Peter HEGGIE	30	0.02359	0.70770
Transfer to Craig SMITH	312	0.02359	7.36008
Transfer to Eddie ANDERSON	9	0.01824	0.16416
Transfer to Peter HEGGIE	2	0.01824	0.03648
Transfer to Craig SMITH	55	0.01824	1.00320
No further preference	555	0.07200	39.96000
No further preference	1,326	0.02359	31.28034
No further preference	72	0.01824	1.31328
Not transferred due to rounding			0.01171
	Total		117.46720

This report contains the transfers results.

Stage 9 - Exclusion of Eddie ANDERSON

679.91701

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Peter HEGGIE	92	1.00000	92.00000
Transfer to Craig SMITH	152	1.00000	152.00000
Transfer to Peter HEGGIE	3	0.32770	0.98310
Transfer to Craig SMITH	6	0.32770	1.96620
Transfer to Peter HEGGIE	26	0.25345	6.58970
Transfer to Craig SMITH	51	0.25345	12.92595
Transfer to Peter HEGGIE	6	0.07200	0.43200
Transfer to Craig SMITH	88	0.07200	6.33600
Transfer to Peter HEGGIE	15	0.02359	0.35385
Transfer to Craig SMITH	129	0.02359	3.04311
Transfer to Peter HEGGIE	1	0.01824	0.01824
Transfer to Craig SMITH	1	0.01824	0.01824
No further preference	363	1.00000	363.00000
No further preference	36	0.32770	11.79720
No further preference	61	0.25345	15.46045
No further preference	103	0.07200	7.41600
No further preference	231	0.02359	5.44929
No further preference	7	0.01824	0.12768
Not transferred due to rounding			0.00000
	Total		679.91701

Report Name: Transfers_V0001_Ward-4---Livingston-South_06052022_160150.pdf Created: 06-5-2022 16:01:50

This report contains the transfers results.

Stage 10 - Exclusion of Craig SMITH

1,106.98468

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Peter HEGGIE	157	1.00000	157.00000
Transfer to Peter HEGGIE	9	0.32770	2.94930
Transfer to Peter HEGGIE	309	0.25345	78.31605
Transfer to Peter HEGGIE	109	0.07200	7.84800
Transfer to Peter HEGGIE	184	0.02359	4.34056
Transfer to Peter HEGGIE	13	0.01824	0.23712
No further preference	570	1.00000	570.00000
No further preference	30	0.32770	9.83100
No further preference	1,026	0.25345	260.03970
No further preference	133	0.07200	9.57600
No further preference	257	0.02359	6.06263
No further preference	43	0.01824	0.78432
Not transferred due to rounding			0.00000